QUES 05:-

placed as shown in the fgure. Each ofthe straight sections
of the loop is oflength 2a. The magneic feld due to this
loop at the point P(a, 0, a) points in the direction 120015]

@ Fl+) =

1
© T+

@ i)

2

e

]

Here loop. ABCDA i the
= plane.
By choosing the loops we
find that in one loop we
o take currnt from.
At0 D and i the other one
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‘magnetic
field at the point P is A 7

considered.

‘The point (a, 0, ) is in the X-Z plane.

‘The magnetic feld due to currnt in ABCDA will be i + ve
Zdirection.

Due to symmetry the y-components and x-components
will cancel out cach other.

‘imilary the magnetic ield due to curren in ADEFA will be
in xdirection.

. The direction of esultant magnetic field at Az, 0, a)
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